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13 Both 104 tactors cancelout.

18020, - maw e

b Divido both sidos by 2 when ratio s 2:5
or ivide both sides by 1.4 when ratio s 1.4:3.5
14:35=14:36-2:5-1:25

2 a Multply each tenn n the bracket by 5
5243 = 10y - 15

b FOIL expansion and simpification.
2r-ties

© Common factor 4y produces the given product
of dyit + 621
g 24yz =yt 62

4 Common factor 2¢ produces the gven product
o 2xx—11)
20 -220-Bxr - 11)

o Divide botn sidos by 3.
s
Add 2 10 botnsides.
ar-0

Divide bt sices by 3.

'3 & The mid-pointis the mean of the x-values and the
values.

b Pythagoras’ theorem.
(B2 +(5- 1 = 82 =721
T21em@at)

© Equation of Ine perpendicutr to AB through M:

grociont a0 L 42 =01

Gractont of A8 = my=

The conton forperpendicular gradiants m and m;

Is given by m, x m, = -1
Graciont of e perpendiuiar to AB =
Use the equation of a sraigh ine.
yemrie

Mis onthe ine s0 must satisty the equation

3

3=3xsec

RN

Pt

Multiply through by 2 to express equation as desired.

o153

Add 11 to both sides and then diids by 7.
s

ey
o=
IR

Mckan 2 - 1 pston
Mocinscor’s t o i poston

Modian scora
maan =

-

Sxledx2ensixs
o= 2

a

T 270
PUA or B) = p{A) + p(B) f A independert.

Nota hat the answer shoukd be given in ful a5 no

rounding has bean requested.

PED o7 gg) = ploD) + igo) =045 x 0454 012 x 012
2169

Expoctod number of events = no. oftrias x probabilty
of the ovent
Number of greon-ayed people = 500 x .12

o of ezt = 1 +
v - 160+ 5060 - 42 x 07

Volume of prism = cross-sectional area x length
Volume of prism - 150 x 4200 = 6.3 x 10°mm?

i Elements n botn A and £,
AnB=0.3

W Eements n 4 or
AUB=0,23,48

b ' Is the complement o set .

5is  member of the set tha s not 4.
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b Check thatinai value i the tota sum of 80

10205040 50 6070
Age years)

Lower st =20
Lower e .01~ 24 s

3

Upper quartleat 3n1=60
Upper quartie (U0) = 38 years

1oR=Ua -0
Interquarse range QR = 13.7 years

10 2 32 capaules equally spaced around the wheel.

125

Thanglo 0BG s isoscales.

e

AG i a vertical ne.
Anglarequired = 90" - 5.626° = B4,375°

b Cama
Distance

w13

180 - 168.75"

2

=

163121158
= 27mins 113ecs

24.115..m = s24m 3 st)

/= me ;s the gradient
3
Gradent =3

b Solve by siminatingy.
a-ay=15  [1]x3
Seesy=6  Rlx2
or-12y=45 [
105+ 12y il

B+ 10 =57

Ssubing]

Maltply both sdes by .
Gx-2r-3-2c
arize-aser

ENN
a1 Froquency densiy =
Number of roquency + lass
calores ) _| "1/ wan
Den<io0| % ]
1000 <n=2000| 130 0
200<n=2500] 140 0z
2500 <0 =d000] 720 008

- Histogram can now be complted.

o 1000 2000 3000 4000

Number of calories
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b UQisat  of area o histogram.
U012 <460 - 60 s - 2500 s

14 1 Inversely impiie thatis on the denominator.

1 son=% wherekisa.
L 5o where ks aconstan
Substiute 1 = 0.9 and. 7 = 2 intothe formula.

09-% sok=06
F

W iohms),

o
[
b Substtute values into formuia then solve for .

T

15 shaded area = arge rectangle - small rectangle =35
115235

a1
16 3 x--12,32014p)
xt-2r-d=x 4 250daw

.

i

a sinonde: %o 0 . €
i ¥ S " snc:

¢ snere AB _ 78
", 08 18 2 = sin 10"

sin28" - 3.69686..cm

b Note 3.901s not used!
Area= ] x 7.8 x 380688 x 542" = 10.1663..cm?

1
area = Labsinc
2

Avma= 10263 51)

o piXand )=o)
AN =

R
b B +p) =1

pinot same) = 1 - pisame)
plsame) = pAR) + NN)
P orY) = 500 + Y

1
A

potsame) 1 £ .11

Volure of thethincyinder of wate ncrease after the sphere

s submerged = vome of the spher.

V= nr3h (volume of cyinder)

V= 47 (volume of sphere)

15205 = S where i the radius of the sphere.

Rearrange to make r the subject.
x50 x5

15 152 = 2627.43...om’
PRNIST)

P

20

” A

3 Toom o

2 T8
Factoise the danominator
ERU TSI

e
Multiply it fraction by % =3 which s 1.
-3
3, w7
=]

=
Express LHS as a singl fraction.

e vyes;
wSwia
FraryeleT)
w2
Factorise numerator and cancel common factor (< + 2.

ares | ared 4

Add 310 both sdes.
4=tc-3,xm





image4.png
21

Consider the sum of the first odd numbers:
1+3+5+7+-

Thisis an A.P. witha=1and d =2
ty=a+m-Nd=1+n-1)x2
t,=2n-1

Sumofthe AP.1+3+5+7+ - +2n-1)

Sum of an A.P. S,,=g[2a+(n -1d]
S”=!2'—[2x1 +(n—1bx2]=-'21[2n]=n2

f(x) = sinx

Stretch of f(x) SF = 2 parallel to y-axis.
2f(x) = 2sinx
—2f(x) = -2sinx

Reflection of 2f(x) in x-axis.
Min point (90, —2) Max point (270, 2)




